

Th. 2:

let  $X$  be a  $p$ -<sup>row</sup> component vector. dist. as.

$N_p(\underline{\mu}, \Sigma)$ . then

$\underline{Y} = C \underline{X}$  is distributed according to

$$\underline{Y} = C \underline{X} \sim N_p(C \underline{\mu}, C \Sigma C')$$

for  $C$  non singular.

proof:

The density of  $\underline{y}$  is obtained from the density of  $\underline{x}$ .

by replacing  $x$  by  $c^{-1}y$  and multiplying by the jacobian of the transformation

Jacobian of the transformation

لدينا  $\underline{x}$  توزيعه صروفية  
 ويريد توزيع  $\underline{y}$  مع العلاقة مع  $\underline{x}$ .  
 لذلك فنقوم بعملية التحول ~~من  $\underline{x}$  إلى  $\underline{y}$~~  بالسر.

$$\underline{x} \sim N_p(\underline{\mu}, \Sigma)$$

$$f(\underline{y}) = g(\underline{x} = \underline{t}(\underline{y})) \cdot |J|$$

$$f(\underline{x}) = \frac{1}{(2\pi)^{p/2} |\Sigma|^{1/2}} \exp\left[-\frac{1}{2} (\underline{x} - \underline{\mu})' \Sigma^{-1} (\underline{x} - \underline{\mu})\right]$$

وكالتالي:

$$\underline{y} = \underline{c} \underline{x} \quad \Rightarrow \quad |\underline{c}| \neq 0$$

$$\underline{x} = \underline{c}^{-1} \underline{y}$$

$\underline{c}$  non-singular

- ① ذلك المتحيز  $\underline{x}$
- ② ذلك السلاز - وتكون  $\underline{x}$

$$f(\underline{y}) = f(\underline{c}^{-1} \underline{y}) \cdot |J|$$

③ ذلك صفر العزم.

Th. 2:

let  $X$  be a  $p$ -<sup>row</sup> component vector, dist. as.

$N_p(\underline{\mu}, \Sigma)$ . then

$\underline{Y} = C \underline{X}$  is distributed according to.

$$\underline{Y} = C \underline{X} \sim N_p(C \underline{\mu}, C \Sigma C')$$

for  $C$  non singular.

proof:

The density of  $\underline{y}$  is obtained from the density of  $\underline{x}$ .  
by replacing  $\underline{x}$  by  $\underline{c}'\underline{y}$  and multiplying by the  
jacobian of the transformation

by replacing  $x$  by  $c'y$  and multiplying by the jacobian of the transformation

لدينا  $x$  توزيعه معرفة  
 ويريد توزيع  $y$  مع العلاقة مع  $x$ .  
 لذلك نقوم بعملية التحويل ~~من  $x$  الى  $y$~~  للفر.

$$\underline{x} \sim N_p(\underline{\mu}, \Sigma)$$

$$f(y) = g(x=c'(y)) \cdot |J|$$

وكالتالي:

$$f(\underline{x}) = \frac{1}{(2\pi)^{p/2} |\Sigma|^{1/2}} \exp\left\{-\frac{1}{2} (\underline{x}-\underline{\mu})' \Sigma^{-1} (\underline{x}-\underline{\mu})\right\}$$

① ذلك دالة المتغير  $x$

② ذلك العلاقة وتكون  $x$

$$\underline{y} = c \underline{x}$$

③  $|c| \neq 0$   
 $c$  nonsingular

$$\underline{x} = c^{-1} \underline{y}$$

$$f(y) = f(c^{-1}y) \cdot |J|$$

④ ذلك هو التوزيع

مصفوفة الجاكوبيين

$$f(y) = f(\bar{c}'y) \cdot |J|.$$

✍

جد ال jacobian

$$J = \left| \frac{\partial x}{\partial y} \right|$$

هو محدد المتتمة

where  $J = \text{abs} \left| \frac{\partial K}{\partial y} \right|$

المصفوفة  
تحدد  
الجاكوبيين

$$|J| = \left| \frac{\partial x}{\partial y} \right| = |\bar{c}'|$$

Know:

$$J = |\bar{c}'|$$

$$= \frac{1}{|c|}$$

we have

$$\begin{cases} c\bar{c}' = I \\ |c\bar{c}'| = |I| \\ |c| \cdot |\bar{c}'| = 1 \\ |\bar{c}'| = \frac{1}{|c|} \end{cases}$$

نفسه

$$= \frac{1}{|c|}$$

$$\boxed{|c'| = \frac{1}{|c|}}$$

$$= \sqrt{\frac{1}{|c|^2}}$$

تربيع وتبديل

$$\rightarrow |c|^2 = |cc'| = |c| \cdot |c'|$$

because.

$$|AB| = |A| \cdot |B|.$$

$$= \sqrt{\frac{1}{|c| \cdot |c'|}}$$

تفريق وتنقسم  
على  $|c|^{1/2}$  وينتج

$$= \frac{|z|^{1/2}}{|z|^{1/2}} \cdot \frac{\sqrt{1}}{\sqrt{|c| \cdot |c'|}}$$

$$|A| = |A'|$$

$$= \sqrt{\frac{|z|}{|c| \cdot |z| \cdot |c'|}}$$

$$\rightarrow |ABC| = |A| \cdot |B| \cdot |c|.$$

$$= \sqrt{\frac{|z|}{|c| \cdot |z| \cdot |c'|}}$$

112

$$\text{mod abs.} \quad |J| = \frac{|z|^{1/2}}{|c| \cdot |z| \cdot |c'|^{1/2}}$$

المطلقة

let the Quadratic form. in the  $n(X | \underline{\mu}, \Sigma)$

$$Q = (X - \underline{\mu})' \Sigma^{-1} (X - \underline{\mu})$$

we have  $Y = CX$

then  $X = C^{-1}Y$ .

$$\begin{aligned} E X &= C^{-1} E Y \\ &= C^{-1} E (CX) \end{aligned}$$

$$= C^{-1} C E X$$

$$\mu = \boxed{C^{-1} C \mu}$$

then.

$$Q = (C^{-1}Y - C^{-1}C\mu)' \Sigma^{-1} (C^{-1}Y - C^{-1}C\mu)$$





24  
Theorem 2

نظرية مهمة

نفس الاستنتاج  
السابق ولكن مختصر

let  $X \sim N_p(\underline{\mu}, \Sigma)$

then  $Y = CX \sim N_p(C\underline{\mu}, C\Sigma C')$

where  $C$  is non singular matrix.

proof

we have

$$Y = CX$$

$$\Rightarrow X = C^{-1}Y$$

تحويل .  
 $X = u(y)$   
 $Y = u^{-1}(x)$   
 $f(y) = f(x) \cdot |J|$

$$f(y) = |J| \cdot f(x, \underline{\mu}, \Sigma)$$

$$f(y) = |J| \cdot f(C^{-1}y, \underline{\mu}, \Sigma)$$

where

$$\begin{aligned} EX &= C^{-1} EY \\ &= C^{-1} E(CY) = C^{-1} C EY = C^{-1} C \underline{\mu} = I \underline{\mu} = \underline{\mu} \end{aligned}$$

where

$$\begin{aligned} \underline{E} \underline{x} &= \underline{c}' \underline{E} \underline{y} \\ &= \underline{c}' \underline{E} (\underline{c} \underline{y}) = \underline{c}' \underline{c} (\underline{E} \underline{y}) = \underline{c}' \underline{c} \underline{\mu} = \underline{I} \underline{\mu} = \underline{\mu} \end{aligned}$$

القمة المطلقة  
للحدود

$$|J| = \text{mod} \left( \frac{\partial \underline{x}}{\partial \underline{y}} \right) = \text{mod} |\underline{c}'| = \text{mod} \frac{1}{|\underline{c}|}$$

→

$$= \frac{1}{\sqrt{|\underline{c}|^2}} = \frac{|\underline{\Sigma}|^{1/2}}{|\underline{\Sigma}|^{1/2}} \cdot \frac{1}{\sqrt{|\underline{c}| \cdot |\underline{E}|}}$$

$$= \frac{|\underline{\Sigma}|^{1/2}}{\sqrt{|\underline{c}| |\underline{E}| |\underline{c}'|}}$$

$$= \frac{|\underline{\Sigma}|^{1/2}}{\sqrt{|\underline{c} \underline{\Sigma} \underline{c}'|}}$$

$$= \frac{|\underline{\Sigma}|^{1/2}}{|\underline{c} \underline{\Sigma} \underline{c}'|^{1/2}}$$

114

$$\therefore f(\underline{y}) = (\underline{y}, \underline{c} \underline{\mu}, \underline{c} \underline{\Sigma} \underline{c}') = \frac{1}{(2\pi)^{n/2} |\underline{\Sigma}|^{1/2}} \cdot |J| \cdot \exp \left\{ -\frac{1}{2} [\underline{c}' \underline{y} - \underline{c}' \underline{c} \underline{\mu}] \underline{\Sigma}^{-1} (\underline{c}' \underline{y} - \underline{c}' \underline{c} \underline{\mu}) \right\}$$

Note

$$(\underline{z}' (\underline{y} - \underline{c}\underline{\mu}))' \underline{z}' \underline{c}' (\underline{y} - \underline{c}\underline{\mu})$$

$$(\underline{y} - \underline{c}\underline{\mu})' \underline{c}' \underline{z}' \underline{c}' (\underline{y} - \underline{c}\underline{\mu})$$

$$(\underline{y} - \underline{c}\underline{\mu})' (\underline{c}\underline{\Sigma}\underline{c}') (\underline{y} - \underline{c}\underline{\mu})$$

$$\therefore f(\underline{y}) = \frac{|\underline{z}|^{p/2}}{(2\pi)^{p/2} |\underline{z}|^{p/2} |\underline{c}\underline{\Sigma}\underline{c}'|^{p/2}} \exp\left[-\frac{1}{2}(\underline{y} - \underline{c}\underline{\mu})' (\underline{c}\underline{\Sigma}\underline{c}')^{-1} (\underline{y} - \underline{c}\underline{\mu})\right]$$

$$\underline{y} \sim N_p(\underline{c}\underline{\mu}, \underline{c}\underline{\Sigma}\underline{c}')$$

H.V

Th. 2 if  $\underline{x} \sim N_p(\underline{\mu}, \underline{\Sigma})$

The <sup>moment</sup> ~~maximizing~~ g.f. of  $\underline{x}$  is:

$$M_{\underline{x}}(t) = e^{t'\underline{\mu} + \frac{1}{2} t' \underline{\Sigma} t}$$

الفاصلة منه  
لا يبار (التوزيعات).  
الاستعمالات

Ex. let  $\underline{x} \sim N_3 \left[ \left( \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 3 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix} \right) \right]$ .

suppose that.

$$\underline{y} = \underline{c} \underline{x} \quad \text{where } \underline{c} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}.$$

Find the dist. of  $\underline{y}$ .

from th. 2. we have

$$\underline{y} \sim N_p(\underline{c}\underline{\mu}, \underline{c}\underline{\Sigma}\underline{c}') \quad , \quad p=3.$$

then

$$\underline{c}\underline{\mu} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}$$

3x3                  3x1

$$\underline{c}\underline{\Sigma}\underline{c}' = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 3 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$$

$$\underline{c}\underline{\Sigma}\underline{c}' = \begin{pmatrix} 3 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix}$$

Then  $\underline{x} \sim N_3(\underline{\mu}, \underline{\Sigma})$

so that  $\underline{y} \sim N_3(\underline{c}\underline{\mu}, \underline{c}\underline{\Sigma}\underline{c}') \quad \text{Th. 2.}$

then  $\underline{y} \sim N_3 \left( \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 3 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix} \right)$

T. J. Sale  
12/24/11/18

2. Theorem

From th. 2 if  $\underline{x} \sim N_p(\underline{\mu}, \Sigma)$  and  $c$  is any  $m \times p$  matrix with rank  $m \leq p$  the new  $m$ -components random vector  $\underline{y} = c\underline{x}$  is dist. according to

$$\underline{y} \sim N_m(c\underline{\mu}, c\Sigma c')$$

From this theorem we have

1) if  $m=1$  the scalar variate  $c'x \sim N_1(c'\mu, c'\Sigma c')$  it is Univariate Normal dist.

2) The joint dist. of any set. of elements of  $\underline{x}$  is multinormal with mean vector and  $\Sigma$ -matrix given by the appropriate elements of  $\underline{\mu}$  and  $\Sigma$ .

Hint.

Q) let  $\underline{x} \sim N_2(\underline{\mu}, \Sigma)$

$$\underline{\mu} = \begin{pmatrix} 3 \\ -3 \end{pmatrix}, \quad \Sigma = \begin{pmatrix} 16 & -4 \\ & 12 \end{pmatrix}$$

① Find the dist. of  $\underline{y}$ ?

② write the density fun. of  $\underline{y}$

where

$$y_1 = x_1 + 2x_2$$

$$y_2 = x_1 - 3x_2$$

Q) let  $\underline{x} \sim N_3\left[\begin{pmatrix} 3 \\ 1 \\ -1 \end{pmatrix}, \begin{pmatrix} 15 & 1 & -1 \\ & 6 & 2 \\ & & 4 \end{pmatrix}\right]$

suppose that  $\underline{y} = \underline{c}\underline{x}$

① Find the dist. of  $\underline{y}$  where

② suppose that

$$y_1 = x_1 - 2x_2 + x_3$$

$$y_2 = x_1 + x_2 + x_3$$

Find the dist. of  $\underline{y} = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}$

3) let  $\underline{z} = \underline{c}'\underline{x}$

where  $\underline{c}' = (1 \ -1 \ 1)$

Find dist. of  $\underline{z}$ ?

4) find the dist for  $x_1, x_2$   
joint.

## Remarks

(i) If  $\underline{X} \sim N_p(\underline{\mu}, \underline{\Sigma})$ . If  $\underline{a}$  is a vector of constant, the linear function  $Y = a_1x_1 + \dots + a_px_p = \underline{a}'\underline{X}$  is univariate normal:

If  $\underline{X} \sim N_p(\underline{\mu}, \underline{\Sigma})$ , then  $Y = \underline{a}'\underline{X} \sim N(\underline{a}'\underline{\mu}, \underline{a}'\underline{\Sigma}\underline{a})$ .

(ii) If  $A$  is constant ( $q \times p$ ) matrix of rank  $q$ , where  $q \leq p$ , and  $\underline{a}$  a vector of constant of order  $q$

Then:

If  $\underline{X} \sim N_p(\underline{\mu}, \underline{\Sigma})$ , then

$Y = A\underline{X} + \underline{a} \sim N_q(A\underline{\mu} + \underline{a}, A\underline{\Sigma}A')$

Ex Let  $\underline{X} \sim N_3(\underline{\mu}, \underline{\Sigma})$  with  $\underline{\mu} = \begin{pmatrix} 3 \\ 1 \\ 4 \end{pmatrix}$

and  $\underline{\Sigma} = \begin{pmatrix} 6 & 1 & -2 \\ & 13 & 4 \\ & & 4 \end{pmatrix}$

Find

(a) The distribution of  $y = 2x_1 - x_2 + 3x_3$

(b) The distribution of  $y_1 = x_1 + x_2 + x_3$ ,  
 $y_2 = x_1 - x_2 + 2x_3$

(c) The distribution of  $y_1 = x_1 + x_2 + 2$ ,  
 $y_2 = 2x_1 + 3$

Sol

$$\textcircled{a} y = 2x_1 - x_2 + 3x_3 = (2 \ -1 \ 3) \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \underline{a}' X$$
$$E(y) = E(\underline{a}' X) = \underline{a}' E(X) = \underline{a}' \underline{M} = (2 \ -1 \ 3) \begin{pmatrix} 3 \\ 1 \\ 4 \end{pmatrix}$$

$$= 17$$

$$\text{var}(y) = \text{var}(\underline{a}' X) = \underline{a}' \Sigma \underline{a}$$
$$= (2 \ -1 \ 3) \begin{pmatrix} \sigma^2 & 1 & -2 \\ & 13 & 4 \\ & & 4 \end{pmatrix} \begin{pmatrix} 2 \\ -1 \\ 3 \end{pmatrix} = 21$$

$$\therefore y \sim N(17, 21)$$

$$h(y) = \frac{1}{\sqrt{2\pi} \sqrt{21}} e^{-\frac{(y-17)^2}{2(21)}}$$

$$\textcircled{b} \text{ Let } \underline{Y} = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = \begin{pmatrix} x_1 + x_2 + x_3 \\ x_1 - x_2 + 2x_3 \end{pmatrix}$$
$$= \begin{pmatrix} 1 & 1 & 1 \\ 1 & -1 & 2 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = C \underline{X}$$

$$E(\underline{Y}) = C E(\underline{X}) = C \underline{M} = \begin{pmatrix} 1 & 1 & 1 \\ 1 & -1 & 2 \end{pmatrix} \begin{pmatrix} 3 \\ 1 \\ 4 \end{pmatrix}$$
$$= \begin{pmatrix} 8 \\ 10 \end{pmatrix}$$

$$\text{var}(\underline{Y}) = \text{var}(C \underline{X}) = C \Sigma C'$$
$$= \begin{pmatrix} 1 & 1 & 1 \\ 1 & -1 & 2 \end{pmatrix} \begin{pmatrix} \sigma^2 & 1 & -2 \\ & 13 & 4 \\ & & 4 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & -1 \\ 1 & 2 \end{pmatrix}$$
$$= \begin{pmatrix} 29 & -1 \\ -1 & 9 \end{pmatrix}$$

$$\therefore \underline{Y} = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} \sim N_2 \left[ \begin{pmatrix} 8 \\ 10 \end{pmatrix}, \begin{pmatrix} 29 & -1 \\ -1 & 9 \end{pmatrix} \right]$$



$$\textcircled{c} \text{ Let } \underline{y} = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} = \begin{pmatrix} x_1 + x_2 + 2 \\ 2x_1 + 3 \end{pmatrix}$$

$$= \begin{pmatrix} 1 & 1 & 0 \\ 2 & 0 & 0 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} + \begin{pmatrix} 2 \\ 3 \end{pmatrix}$$

$$\underline{y} = A\underline{x} + \underline{a}$$

$$E(\underline{y}) = A\underline{\mu} + \underline{a}$$

$$= \begin{pmatrix} 1 & 1 & 0 \\ 2 & 0 & 0 \end{pmatrix} \begin{pmatrix} 3 \\ 1 \\ 4 \end{pmatrix} + \begin{pmatrix} 2 \\ 3 \end{pmatrix} = \begin{pmatrix} 6 \\ 9 \end{pmatrix}$$

$$\text{var}(\underline{y}) = \text{var}(A\underline{x} + \underline{a}) = A \Sigma A'$$

$$= \begin{pmatrix} 1 & 1 & 0 \\ 2 & 0 & 0 \end{pmatrix} \begin{pmatrix} 6 & 1 & -2 \\ 13 & 4 & 4 \end{pmatrix} \begin{pmatrix} 1 & 2 \\ 1 & 0 \\ 0 & 0 \end{pmatrix}$$

$$= \begin{pmatrix} 21 & 14 \\ 14 & 24 \end{pmatrix}$$

$$\therefore \underline{y} = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix} \sim N_2 \left[ \begin{pmatrix} 6 \\ 9 \end{pmatrix}, \begin{pmatrix} 21 & 14 \\ 14 & 24 \end{pmatrix} \right]$$